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V=ux(x-=1)10-x)

where 1 < x < 10

,
6 // N ‘\\' Find the equation of the circle.
j( - \ £ (3i i) r=3
: | . 9
3\\ }C / (-'(--~3)l+ (H—Lf") = 9
IRNNEEZE
f '+ 2 3 & 5 ;I
It Draw and label OA'B'C’ _
-2 O\/0 1 | Oy _(0-2-20
3 0_2)(00; {)" © 0 —2 ~2
2} F}’ 6;‘ Cl
c B
Al
3 3 3 10l 1A 23 4%
6' * CI
-3 Describe the transformation fully.
P Enlargemen{‘ centre O
s £ =2
OABC is transformed by the matrix
(_02 _02) to give OA'B’C’
The volume of a container with a height Find ﬂ/_
of x, is given by n dx
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Hence find the value of x for which the
volume is a maximum. Give your answer to
1 decimal place.

3x*-22x+10=0
<= 22 +/35%
b

~ o5 6 (idp)

© Corbettmaths 2019

www.corbeitmaths.com



